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| Problema 1 | 10 ptos |

Recursiva:

function y = Bi nToHexaRec( NunBi n)
n=l engt h( NunBi n) ;
if n==0
y =11,
el seif n==1
b [270];
y = sun(NunBi n(n) .* b);
el seif n==2
b [2~1 270];
y sum(NunmBi n(n-1:n) .* b);
el seif n==3

b =[2r2 2721 270];

y = [sum(NunmBin(n-2:n) .* b) ];
el se

b =[2~3 272 271 270];

y = [Bi nToHexaRec(NunBi n(1:n-4)) sumNunBi n(n-3:n)
end
Iterativa

function y = Bi nToHexa( NunBi n)
n=l engt h( NunBi n) ;
y =1[1;

if n==0
y =[1;
el se
for i=n:-4:1
if i>=4
b =273 272 271 2"0];
y = [sum(NumBin(i-3:i) .* b) vy]
elseif i==
b =[2r2 2~1 270];
y = [sum(NunmBin(i-2:i) .* b) vy];
elseif i==
b =[2"1 270];
y = [sum(NunmBin(i-1:i) .* b) y];
elseif i==1
y = [NunBin(i) vy];
end
end
end
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| Problema 2 |10 ptos |

function y = Flotante(s,e,f)

e=e(:);

f=f(:);

le = length(e);

If =1length (f);
emn = zeros(le,1);
emax = ones(le, 1);
fmn = zeros(If,1);
fmax = ones(Ilf, 1)

M= 2°(le-1) - 1;

if all(e == enin)
if all(f == fmn)
y =0;
el se
y =2* (-1)"s;
end
elseif all (e == emax)
if all(f==fmn)
y =3 * (-1)"s;

el se
y = 4;
end
el se
y =1* (-1)"s;
end

| Problema 3 [20 ptos |

Solucién 1 Solucidn 2
function y=horner (P, x) function y=horner (P, x)

y = horner3(P, x, 0); n =length (P);

if (n==1)
y = P(1);

function y=horner3(P, x, hor) el se
n =length (P); y = P(n)+(horner(P(1:n-1),x))*x;
if (n==1) end

y = hor + P(1);
el se

hor = (hor + P(1))* x;
y = horner3(P(2:n), x, hor);
end
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| Problema 4 |20 ptos |

function plata = ej4 (sunm, cant)
plata = zeros(1, 10);
nmonedas = [1 2 5 10 20 50 100 200 500 1000];
j = 10;
while suma > 0
cj = floor(suma/monedas(j));
if ~((cant(j) ==0) | (cj ==0))
if cant(j) > cj
plata(j) = cj;
suma = suma - nonedas(j)*cj;
el se
plata(j) = cant(j);
suma = suna - nonedas(j)*cant(j);
end
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